Extra Practice Worksheet 5.2 Name

1. A cross section of a nuclear cooling tower is a hyperbola with equation:
x2 _ yz _ 1
902 1302

The tower is 450 feet tall. The distance from the
top of the tower to the center of the hyperbola is
half the distance from the base of the tower to the
center of the hyperbola.

Find the diameter of the top and the diameter of the
base of the tower.

2. Find the vertex, focus and directrix. Use the focai width to graph.

yi+ 12y - 12x+ 60 = 0

Vertex:

Focus:

Directrix:
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Find the vertex, focus and dtrectnx Use the focal width to graph.

Y2+ 12y — 12x + 60 = 0

(yre)® = Xl Se 03
(%?(g@}z* = o2x -
(yref = 121x-2)

Vertex: ( A }w {ﬁ)
Focus: L% 3"‘%@3

Directrix: ?( - m{




